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COMPUTER COMMUNICATION
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Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(i) - X% X F @ 4T %) AR O AT ¥ FNA
- Solve all parts of a question consecutively together.
(iii) ¥PF F¥7 %) 73 98 @ IR FW? |
Start each question on fresh page. -

) a}#aﬂmﬁ#mﬁiaﬁ@ﬁ#ma@mﬂm?/

" Only English version is valid in case of difference in both the languages.

Lo @) Aoh ofR wEmTRR S H i ger AR |
Compare serial and parallel data transmission.
- (i) WA I T ARwa ¥ 7 qE wElwm A ® ¢
~ What do you mean by modem ? Where it is used ?

(iii) e R A w7
What do you understand by bit stuffing ?

(iv) - 3.Tw. o, nﬁaﬁwq«ﬁ%mﬂh@mmmmi |

| Give the name of the layers of O.S.1. model where routers operate.

(v) -8R vl srmuwen & s FEwwR € 7 |
What do you mean by non;adaptive routing algbrithm 7 o (2x85) - -
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B :« Dra‘;wthg block-diagram of computer communication.Explain its need.
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Describe any two guided transmission media used for data commumcatlon (6x2)
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If seven devices are arranged in a fully ‘connected mesh topology, then find out
the following : '

(a) o= for N aen
-~ Total number of links
(b) R IfRT | Agw F v
Number of ports on each device ' ‘ ' (3+3)

amﬁnﬁza*%ﬁama%m | TE g A TR R 7

“Explain the token ring network operation. In what ways it is different from

Ethernet ? . 4+2)

LAN, MAN, WAN! @ftre # via $ifdr | o
Describe LAN, MAN, WAN in brief. - : | (2+2+42)

Tene HifEaw T aeAe (ALOHA medium access techmque)a?t T | wﬁ
w%mmm%ﬁﬁq |

Explam the ALOHA medium access techmque and find out the expression for its -
effic1ency _ ‘ ‘ (3+3)
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Explain Go-Back-N sliding window protocol in details. | 6)
ol & FeaRim weefiant ot wwrsTs | -
Explain any two switching techniques. : (3x2)
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Explain the ﬂooding routing concept to find the shortest path in the network. = (6)
it afit TFed (Bridges 3R Routers) % &l & q9H3T |

Explain the functions of Bridges and Routers. | 3x2)
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. Explain the functions of each layer of TCP/IP reference model.
(i) b F g N s

What are the different causes of congestion in the network ? . (6x2)

P R i et firg

Write short notes on any two of the followings : -
() smoEdieT
ISDN |
(i) o
CRC
(iif) TerTeeT!
~ HDLC | | 62)
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